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QD A3+ 3*2=30, AxPTHAR:
(A) 3 (B) 1

Q) -1 (D) -3

Q.2) tri%(gl)” —81, AnHTAFE

(A) -2 (B) -1

©) 1 (D) 2 Ans. (A) -2

Q.3) Af¢ 5% = 125 B, 5 SRISR AT
(A)-5 (B) —<

©5 (D) 2 Ans. (D) =

Q.4) what is the value of y in the equation ? =3=9

= — 3 = 9 FeftaRu H y BT A B |

4)3 (B) 8

@9 (D) 6 Ans. (B) 8
Q5) ) BIAAT |
A= (B) =
(oF (D)3
Q.6) 216 -+ 212 T HIF JTd BT |
g9 = 210712
= 24

=16
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Q.7) (625) = (25)2 &I I PiforT |
1 1

gd:=(5X5x5x%x5)t +(5x%x5)2

= (5)¥F + (5)27

=5+5

=1
Q.8) Write, 120 in terms of power of prime numbers.

120 1 U JBATSHT & U o =7 § R |

BU: 120 = 2x2%x2%3%5 Or 23%x3x%5

Q.9) If ( %)xx( g)_z = (%)5 then the value of x is :

(D)X (D)2 =S xPTAAE:
8 ()X (D = ()°
(D*x(D% =)

§x+2_ 35
Gz=0
x+2=5

x=5-2

x=3

Q.10) Simplify the following:

g B A sifvT -
V24 + V81 + V192

gd: /24 + V81 + V192
=32X2X2%X3 + V3X3X3X3+ V2X2X2X2X2xX2X3

=233 +3V3 +2x233
=213 +3V3 + 433
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Q.11) Y &I TR BIfVT |
V32 + /200 + /128

B =V2X2X2X2X2 +V2X2X2X5X54+ V2X2X2X2X2X2X2

=2X2V2+2%X5V2+2x%x2x%x2V2
=4V2 + 10V2 + 8V2
=222

Q.12) FEfiRad & & &1 URWTBRU HIP T BT |

V11 -+/5
Vi1 ++/5

_ V-5 VII-VB
= ViT+VE  VII-V5

_ _(T1-V5Y
T (V1D - (V5)?

Bd:

_ WID?-2 xVIT x5 + (V5)?

(V11)2 - (V5)?

_ 11-2V55+5
I

16— 255
- 6

_ 8-+/55
3
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